


-ידי לע םכוס
יול יאורלא

👎

9/3/23

· ya fadd tro secid jay an nigada 5118

10'do Ne 31 a

jigs N-1 R Olde Ex No Bod fo Sand 1824 de

xs> God ,
N = 4

I

from oldy
,
R

·

R

W

Mo
=

ut .107
,
BI = MON : na fadd fro scanaje fai

: No Fadd fro saida wan In

· il'd'as aian a f

janI"
~ Be

Dist I"c
- Add as

-

· Gain zoen /11
- Sala

-

Esteg



-ידי לע םכוס
יול יאורלא

· No fold fro soy Ck Jon & polki xie xisd

M MoN . I

T

~

B.MON Bey
tanix = B=

"
Mo

. N . I

tan() =

2R . Be

: 1)& :10'Ja

Fox yaas R = 5cm

L

curt . 107) · 10 ·

0 . 12 x00 ,s C = 22

tan(22) =

2 : 0 . 05 . Be
. ous I = 0 .

12 A

H
-xir N = 10

Be = 3 . 73 . 10-5 +

~ 2 . 9 . 105 +

:tline Sink &n

13& x8x 9:30x6i
Sink

= it -/
1127& · 100 %

%
:

338736x
--13/

3 . 73 .185 -

2 . 9 . 185
-

2 . 9 .10 5
· 100 %

=

28. 7 %

Esteg



-ידי לע םכוס
יול יאורלא

d

EB
T

~

B.MON Bey= 2 . 9 :10+

"50%

:k all on The

ess &assed 134) / Im & xNa21 & gas gis iglo Eat
< 10dx 1134) /x . 11081 /30 la & S 22S Xxl 0 . 5 m volace old

. )'s i

? x 534d TRON 0342 120 in

B2 X
N

In = y A
0 . 5 w

* &
0 . 5 m Iz = 11

·

W

Bea

X

Be

Mo · In (4T-10-7) . E

B1 =

2π- R
=

RIT. 1
=

4 .10E = Be

Mr
: N : In (45-10 -7) - 1 - 1

Ba =
=

= 1 . 25 .10! = Ba
zR 2 . 0 . 5

EB = Be +
2

= 4 .157 + 1. 26 .106 = 1 . 65 .100
+

--
1& n y k

./ Nk in on jigadi Nea /115 ,
is child

· Did icond 1)") SK 11311 YON OS) Ynk-y"4a) yaef In y "GaNa

Esteg



-ידי לע םכוס
Estegיול יאורלא


